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Half-Yearly Examination 2017-18
Class-9 IX

Subject- Science

Time : 3% [rs. MM.: 70

Inclructions : (1) Al the guestions are compulsory. (2) For questions having
mory -then pant the antwer W those pans wre o be written together in
conqu sory,

When is Nathienal Science Day celehmied?

Write the (ull name of CING. .

Name the hasic particles of an atom. ' —

Wrile electronic configuration of chlorine Stom,
Who discovered the cell firstof all?

~ Name the propunder of bionomial system.

Wihich conducting tissue is responsible for taking water from root 1o
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lcaves?  httpy/www.rbseonline.com 1
A~ A panicle is moving along a circular path of radius r. What will be the
displacement of the particle, when it completes one revolution? !
=7 On which Newton's law, Principle of rocket is based. 1
AE7 Name the principle on which hall pen works? 1
11, " How r.!n we obtain Bose-Einstein-Condensate {BEC). 2
12. - What is physical change? Give oic example. 1+1=2
13. What do you understand by isntopes? Write two uses of isotopes.
. 14+Vo44=2
14.. Write the latin name of the following eleinents : Vaxd=2
(1) Sadium (i1) Potassiem
{1ii) Gold {iv} Copper

Write two differences between chordate and nnn-chnrday;'o’.‘ 1+1=2
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gravitational acceleration of the mcon as compared by thie earth. 1+1=2
AZ_Why is the tyres of vehicles rough and wavy made?- \2
> Give main reasons™of aecidents on Nuiional Hizhway ;- _
 Write different steps of scientific wethod.
21. What 1ype ol liguids are separated into thewr component by using frac-
tional distilintion? F,x[:l::in by a lzbelled dinzram 1+1+1=3
22, Anclement has atomic mumber 19 and Atomic massa3y. [+141=3
(i) Write the Name of element.  http:/www.rbseonline.com
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17, How mauny gravitational acceleration does the moon? and what is the -

2
(ii) Write Number of Proton in tha <lement.
iif) Write Number of Neurron in the clemem. |
¥ Wrjie the Molecular formula of the following compound :  ¥ix6=3
'ﬂ'}pgalt:ium Chlgride _~1ITSoduyn Curbonnie |
Calcium hydroxide ySodiyn Chioride
ST Ferric Chloride _(g)zivic Sulphaie .
2% Write short noles on : _ 1V M=l
B;U'Mungmuc Vegetation ,(‘H‘]/Lichcn _
~ What is the Universal law of Gravitation? decive this. = 1423
% Explain Louis Pasteur’s Experiment by using a labelled diagram. 244=6
OR v
Match the items given in Column A with those given in Column B.
Column A Column B
{1) Theory of SponLineous {A) Francesco Rcdu(
generation Louis Postcur
(2) Biochemical evolution :g\l:!&i::rl
tfx’ g::::?;ifm?;ﬁfo? (D) Leibig/Catin/ Arhinius
Chemical evolution
{5} Organism devoid of (E) Oparin
Metabolism  http:/www.rbseonline.com
27 Draw the labelled Diagrm of the following : 2x3=6
(1) Nerve Cell (Neuron) ' *(2) Chloro plast
{3) Mitochondria ,
A OR
Whal is Mitosis cel! division? Describe the various stages of Mitosis with
iagram. : 142+3=6 "
2%5. Describe the Exerciory Sysiem of human being by a labelled diagm=11‘3""
1 -
— . 244=6

CR
Describe the intemal sirnecture of [Human heant by a labelied diagram?
/:B./ Define Momentum? In direct collision of two moving object the momen-
tem remains conserved. Prove it with a diagram. 2+4=6
OR
/(.iHJ:scribe Newton's Firsl law of Mnri_ey_jn daily life by givine a ex-
ample? http:/www.rbseonline.com
/&)’Calculatc the acceleration of an object having 4kg. mass and 20N
farce. 343=0
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